
53: E9

-
-

· Simple random walk.Stirinit --
A particle is placed atk.
Each second, moves I step

to the rightor to the left

independently withprob Ys each.

iamreachingbefore reachinge

Condition on 1step, or Ri
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Denoting Pr=PLEX), we obtain

Pr == (Pur +Prx), K=1, . . ., n-

E Po
=0;Pn=

not linear equations
in not unknowns. Solve ->

t lobriously, itis a vention,you
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#Teams A and B, who have equal strength, play against
each other continually.

I point is awardedtothe winner of each game.

The firstteam thatleads by 5points wins the tournament

I TeamAcurrently leads by3pt.
↑

↑

Whatis the prob, that team A wins the tournament?

1.Assumptions:outcomes of the games are independent,
equally likely win/loie
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· The"lead of A" is doing a simple random walk,starting at 1

A wins tournament) starting at 1, the lead reaches 5before - 5.

· By shifting, startingat 6,
the lead reaches 10 before .
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From the previous problem, this probability-
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Read more on random walk

-2-


